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28.12 1)
log, (12+6\/§)+2|096 (3—\/5) =log, (12+6\/§)+ log, (3—\/§)2 =

= log, (12+6J§)+ log, (9—6J§+3) = log, (12+6J§)+ log, (12—6J§) -
:Iogﬁ[(12+6\/§)(12—6\/§ﬂ:Iog6(122_62,\/§2):

=log, (144-108) = log, 36 = log,, 6 = 2

28.12 2)
log, (11—6\/§)+ 2log, (3+\/§) = log, (11—6\/§)+ log, (3+\/§)2 -

= log, (11-6v/2 )+ log, (9+6+2 +2) = log, (11612 ) + log, (11+6+72 ) =
=log, [(11—6\/5)(11+ 6«/5)} =log, (112 —6° \/52) =

=log, (121-72) =log, 49 =log, 7* = 2

28.12  3)
2Iogs(2—J§)+log5<7+4J§): Iog5(2—\/§)2 +Iogs<7+4J§):

- IogS(4—4J§+3)+ log, (7+4\/§) =log, (7—4\/§)+Iog5 (7+4\/§)=

~log, | (7-443)(7+443) | ~log, (72 42 ,ng) —log,1=0
2812 4)

Iog2+|og(J§+1): Iog(l+ﬁ)+log(1—ﬁ)=

- Iog(z(\/§+1))+ Iog[(l+\/2—\/§)(1—\/2_\/§)} -
- Iog(Z(\/§+1))+ log (1—(2—\/5)) = Iog(Z(\/§+1))+ log (—1+ \/§) =

- |og(2(J§+1)(J§—1)) —log(2(3-1)) = log 2* = 2log 2

28.12  5)
IogZ+Iog(2+J§)+Iog(2+m)+log(2—\/m)

=2log2 = Iog(2(2+J§))+Iog[(2+m)(2—mﬂ:

:Iog(2(2+\/§))+log(4—(2+\/§))= Iog(2(2+J§))+log(2—J§)=



- Iog[2(2+\/§)(2—\/§)} = log[ 2(2° ~2) | =log 2° = 2l0g 2

28.12 6)
%Iog33+%log(6+\/§)+%Iog(3+\/3+\/§)+%Iog(3—\/3+\/§):

= Iog\/ﬁjtlog( 6+\/§)+%Iog[(3+\/3+\/§)(3—\/3+\/§)}=
=Iog«/§+log( 6+\/§)+%Iog(9—<3+\/§)):
:Iog\/@+%log(6+\/§)+%log(6_\/§):
:Iog\/§+%|og[(6+\/§)(6—«/§ﬂ=Iog«/§+%log(62—3)=

:Iog\/@+%log33:Iog«/@ﬂog«/ﬁzlog%



